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Second Semester — Final Exam ~ May 2018
Course: English Language (1)
Time Allowed: Two Hours
Total Score: 50 Marks
Date: 22-5-2018

I-Read the following passage, then answer the questions below: (6x%2=12 marks)

Steamships were first introduced into the United States in 1807, and John Molson built the first
steamship in Canada (then called British North America) in 1809. By the 1830's dozens of steam
vessels were in use in Canada. They offered the traveler reliable transportation in comfortable
facilities-a welcome alternative to stagecoach travel, which at the best of times could only be
described as wretched. This commitment to dependable river transport became entrenched with
the investment of millions of dollars for the improvement of waterways which included the
construction of canals and lock systems. The Lachine and Welland canals, two of the most
important systems, were opened in 1825 and 1829, respectively. By the time that Upper and
Lower Canada were united into the Province of Canada in 1841. The public debt for canals was
more than one hundred dollars per capita, an enormous sum for the time. But it may not seem
such a great amount if we consider that improvements allowed steamboats to remain practical
for most commercial transport in Canada until the mid-nineteenth century.

1. What is the main purpose of the passage?

(A} To contrast travel by steamship and stagecoach

B) To criticize the level of public debt in nineteenth century Canada

C) To describe the introduction of steamships in Canada

D) To show how Canada surpassed the United States in transportation improvements

2. The word "reliable" in line 3 is closest in meaning to which of the following.......................
(A) Quick (B) Safe (C) Dependable (D) Luxurious

3. Which of the following can be inferred from the passage about stagecoach travel in
Canada in the 1831's?

(
(
(

(A} It was reasonably comfortable. (B) It was extremely efficient.
(C) It was not popular. (D) It was very practical.

4. According to the passage, when was the Welland Canal opened?

(A) 1807 (B) 1809 (C) 1825 (D) 1829
5. The word "sum" in line 9 is closest in meaning to which of the following?

(A) Size (B) Cost (C) Payment (D) Amount

6. According to the passage, steamships became practical means of transportation in
Canada because of.....

(A) improvements in the waterways (B) large subsidies from John Molson
(C) a relatively small population (D) the lack of alternate means
II- Choose the best definition for the underlined word: (4x2= 8 marks)

1- Although Zachary is much too inexperienced for the managerial position, heisa willful young
man and obdurately refuses to with- draw his application.

foolishly b. reluctantly c. constantly d. stubbornly
2- Mr. Powers was so gullible that he believed even the most outland- ish excuses of his
insincere employees. a. intelligent b. naive c. dishonest d. critical

3-When people heard that timid Bob had taken up skydiving, they were incredulous.
a. fearful b. outraged c. convinced d. disbelieving
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4-The doctors were pleased that their theory had been fortified by the new research.
a. reinforced b. altered c. disputed d. developed

»

III- Choose the best topic sentence for the following: (4x3=12 Marks)

1) . It rained in April; it rained in May. It rained
in the mornings; it rained in the afternoons. It poured, it drizzled, it showered, it misted—
but always it rained. But the good news is we won’t have a drought this summer.

a. The rain makes me gloomy. b. This spring was the rainiest on record.

c. Rain is nice, but I prefer sunshine.

2) . I enjoy summer sports like water skiing and
baseball. The weather is usually sunny and hot, so I can go to the beach almost every day.
Gardening is my hobby and I spend many summer days working in my garden.
Unfortunately, the days pass too quickly in summer.

a) I like to garden in summer. b) Summer is my favourite season. ¢) Summer is too short.

3) . First of all, we need money to repair old roads
and build new roads. We also need more to pay teachers’ salaries and to pay for services
such as trash collection. Finally, more tax money is needed to give financial help to the
poor citizens of the city. It is clear that the city will have serious problems if taxes are
not raised soon.

a) We should raise city taxes. b) City taxes are too high. c¢) City taxes pay for new roads.

4) . One thing you must consider is the quality
of the university’s educational program. You also need to think about the school’s size
and location. Finally, you must be sure to consider the university’s tuition to make sure
you can afford to go to school there.

a) It is expensive to attend a university in the United States.

b) There are several factors to consider when you choose a university to attend.

c) You should consider getting a good education

IV-Grammar: Choose the best answer:: (6x3=18 marks}
1- When I have money. This is a (simple sentence - independent clause - dependent clause)

2- The sky is clear; the stars are twinkling. This is a (comma splice - compound sentence —
complex sentence).

3-My professor read my paper she said it was excellent. This is a (simple sentence - run-on ~
compound sentence)

4- One of our teachers (is — are — am) going to leave the school.

5-Each of the girls brought (their — her - she) book.

6- Economics (are — is - were) my major field of study.

Best Wishes .... Dr. Marwa M. Abdelmotaleb
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Second Semester — Final Exam ~ May 2018
Course: English Language (1)
Time Allowed: Two Hours
Total Score: 50 Marks
Date: 22-5-2018

I-Read the following passage, then answer the questions below: (6x%2=12 marks)

Steamships were first introduced into the United States in 1807, and John Molson built the first
steamship in Canada (then called British North America) in 1809. By the 1830's dozens of steam
vessels were in use in Canada. They offered the traveler reliable transportation in comfortable
facilities-a welcome alternative to stagecoach travel, which at the best of times could only be
described as wretched. This commitment to dependable river transport became entrenched with
the investment of millions of dollars for the improvement of waterways which included the
construction of canals and lock systems. The Lachine and Welland canals, two of the most
important systems, were opened in 1825 and 1829, respectively. By the time that Upper and
Lower Canada were united into the Province of Canada in 1841. The public debt for canals was
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Second Semester ~ Final Exam — May 2018
Course: English Language (2)
Time Allowed: Two Hours
Total Score: 50 Marks
Date: 22-5-2018

»

I-Read the following passage, then answer the questions below: : {5x%2=10 marks)

Steamships were first introduced into the United States in 1807, and John Molson built the first
steamship in Canada (then called British North America) in 1809. By the 1830's dozens of steam
vessels were in use in Canada. They offered the traveler reliable transportation in comfortable
facilities-a welcome alternative to stagecoach travel, which at the best of times could only be
described as wretched. This commitment to dependable river transport became entrenched with
the investment of millions of dollars for the improvement of waterways which included the
construction of canals and lock systems. The Lachine and Welland canals, two of the most
important systems, were opened in 1825 and 1829, respectively. By the time that Upper and
Lower Canada were united into the Province of Canada in 1841. The public debt for canals was
more than one hundred dollars per capita, an enormous sum for the time. But it may not seem
such a great amount if we consider that improvements allowed steamboats to remain practical
for most commercial transport in Canada until the mid-nineteenth century.

1. The word "reliable" in line 3 is closest in meaning to which of the following.......................
(A) Quick (B) Safe (C) Dependable (D) Luxurious

2. Which of the following can be inferred from the passage about stagecoach travel in
Canada in the 1831's? .

(A) It was reasonably comfortable. (B) It was extremely efficient.

{C) It was not popular. (D) 1t was very practical.
3. According to the passage, when was the Welland Canal opened?

(A) 1807 (B) 1809 (C) 1825 (D) 1829
4. The word "sum" in line 9 is closest in meaning to which of the following?

(A) Size (B) Cost (C) Payment (D) Amount

5. According to the passage, steamships became practical means of transportation in
Canada because of.....

(A) improvements in the waterways (B) large subsidies from John Molson

(C) a relatively small population (D) the lack of alternate means

II- Complete using the suitable homophones. (2%10=20 marks)
A. “be” and “bee”:
I.A _ stung me at recess today.
2. She issupposedto  at work today.
3.1 laughed when Mom said | was “Busy as a
4. Hurry! Idon’t wantto  late.
B. “cent” and “scent” and “sent”
5.Tracy  her mom flowers for her birthday.
6. Vanilla is my favorite
7. A penny is worth one .
8
9
]

. The from her perfume was strong.
.Shewasone  short to pay for ice cream.
0. The scary movie shivers down my spine!
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I11. Choose the correct answer.’ : (2x%5=10 marks)
1. Which of these is the correct spelling? We had a ...

A) disagreement B) dissagreement C) disagredament

2. What does the word tireless mean?

A) always feeling tired B) never feeling tired C) feeling less tired than someone else
3. if you heard that a band had re-formed, what would this mean?

A) formed again B) formed for the first time C) formed for the last time

4. Which of these words cannot be made into another word by adding the prefix 'sub'?

A) way B) marine C) book

5. What does the prefix 'dis’ do to the word appeared in this sentence?
The cat disappeared before her very eyes.

A) It tells you that the cat appeared bigger than before.

B) It tells you that the cat vanished.

C) It tells you that the act appeared to be further away.

IV- Choose the information that is most similar to the original sentence. (2x5=10 marks)
1. We agreed that John and Jim were to buy the food.

1) John and Jim would agree to buy the food for us.

2) John, Jim and we agree to buy the food.

3) We agree John and Jim would to bought the food.

4) John and Jim were chosen by us to by the food.

2. In Japan, even more than, China, people use bamboo for decoration.

1) Both the Japanese and the China se bamboo for the same decoration.

2) Only the Japanese use bamboo for more decoration than the Chinese.

3) The Japanese use more bamboo for decoration than the Chinese do.

4) Not only the Japanese, but also the Chinese, use bamboo for decoration.

3.1 am old enough to be your mother.

1) Your mother and I are exactly the same age.

2) Your mother and I are both older than you.

3) I am about the same age as your mother.

4) 1 am not nearly as old as your own mother.

4. Canada is similar to the United States in that the majority of its people speak English.
1) Everyone in Canada and the United States speaks English

2) Some people in Canada speak English but everyone in the States speaks that language.

3) Some people in the State speak English but everyone in Canada speaks that language.

4) Some people in Canada and the United States speak those languages other than English.

5. Many of the problems one finds in city and suburban life result from a lack of proper
planning.

1) We did not properly plan so there are some problems that we have.

2) We did not properly plan and we still do not have any problems.

3) We have properly planned so there are no problems.

4) We have properly planned but there are still many problems.

Best Wishes .... Pr. Marwa M. Abdelmotaleb
Page 2 of 2



Second Semester ~ Final Exam — May 2018
Course: English Language (2)
Time Allowed: Two Hours
Total Score: 50 Marks
Date: 22-5-2018

»
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I11. Choose the correct answer.’ : (2x%5=10 marks)
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The cat disappeared before her very eyes.

A) It tells you that the cat appeared bigger than before.
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C) It tells you that the act appeared to be further away.
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1) John and Jim would agree to buy the food for us.

2) John, Jim and we agree to buy the food.

3) We agree John and Jim would to bought the food.

4) John and Jim were chosen by us to by the food.

2. In Japan, even more than, China, people use bamboo for decoration.
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2) Only the Japanese use bamboo for more decoration than the Chinese.

3) The Japanese use more bamboo for decoration than the Chinese do.

4) Not only the Japanese, but also the Chinese, use bamboo for decoration.

3.1 am old enough to be your mother.

1) Your mother and I are exactly the same age.

2) Your mother and I are both older than you.

3) I am about the same age as your mother.

4) 1 am not nearly as old as your own mother.

4. Canada is similar to the United States in that the majority of its people speak English.
1) Everyone in Canada and the United States speaks English

2) Some people in Canada speak English but everyone in the States speaks that language.

3) Some people in the State speak English but everyone in Canada speaks that language.

4) Some people in Canada and the United States speak those languages other than English.

5. Many of the problems one finds in city and suburban life result from a lack of proper
planning.

1) We did not properly plan so there are some problems that we have.

2) We did not properly plan and we still do not have any problems.

3) We have properly planned so there are no problems.

4) We have properly planned but there are still many problems.

Best Wishes .... Pr. Marwa M. Abdelmotaleb
Page 2 of 2



Second Semester ~ Final Exam — May 2018
Course: English Language (2)
Time Allowed: Two Hours
Total Score: 50 Marks
Date: 22-5-2018

»

I-Read the following passage, then answer the questions below: : {5x%2=10 marks)

Steamships were first introduced into the United States in 1807, and John Molson built the first
steamship in Canada (then called British North America) in 1809. By the 1830's dozens of steam
vessels were in use in Canada. They offered the traveler reliable transportation in comfortable
facilities-a welcome alternative to stagecoach travel, which at the best of times could only be
described as wretched. This commitment to dependable river transport became entrenched with
the investment of millions of dollars for the improvement of waterways which included the
construction of canals and lock systems. The Lachine and Welland canals, two of the most
important systems, were opened in 1825 and 1829, respectively. By the time that Upper and
Lower Canada were united into the Province of Canada in 1841. The public debt for canals was
more than one hundred dollars per capita, an enormous sum for the time. But it may not seem
such a great amount if we consider that improvements allowed steamboats to remain practical
for most commercial transport in Canada until the mid-nineteenth century.

1. The word "reliable" in line 3 is closest in meaning to which of the following.......................
(A) Quick (B) Safe (C) Dependable (D) Luxurious

2. Which of the following can be inferred from the passage about stagecoach travel in
Canada in the 1831's? .

(A) It was reasonably comfortable. (B) It was extremely efficient.

{C) It was not popular. (D) 1t was very practical.
3. According to the passage, when was the Welland Canal opened?

(A) 1807 (B) 1809 (C) 1825 (D) 1829
4. The word "sum" in line 9 is closest in meaning to which of the following?

(A) Size (B) Cost (C) Payment (D) Amount

5. According to the passage, steamships became practical means of transportation in
Canada because of.....

(A) improvements in the waterways (B) large subsidies from John Molson

(C) a relatively small population (D) the lack of alternate means

II- Complete using the suitable homophones. (2%10=20 marks)
A. “be” and “bee”:
I.A _ stung me at recess today.
2. She issupposedto  at work today.
3.1 laughed when Mom said | was “Busy as a
4. Hurry! Idon’t wantto  late.
B. “cent” and “scent” and “sent”
5.Tracy  her mom flowers for her birthday.
6. Vanilla is my favorite
7. A penny is worth one .
8
9
]

. The from her perfume was strong.
.Shewasone  short to pay for ice cream.
0. The scary movie shivers down my spine!

Page 1 of 2
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First: The integration: Find the following integraIS' ( 25 mark)

O @ fsin'vde, O] v, @

2) (a) j ¢ cosxdx, (b)jx/l—xzdx, (C)Txexdx

2
(3) Find the area bounded by : V = \/; and y=x.
(4)Find the volume V of the sclid formed by the revolving region bounded by

2
the graphs of ¥ =X+2 and y=X" about the x- axis.

Second: Analytic geometry: ( 25 mark)

T
(1) Write the following equation in the cartisian form : 7 C0S (‘9 - ?] =10
(2) Determine the radius and center of the circle: r* ++/3rcos@+rsin @ =27

2
(3) Discuss and sketch the graph of the parabola: )V — 6y+2x+1=0

3 .
(4) Discuss and sketch the graph of the ellipse with foci (J—r 5 ,Oj and its

.. 1
eccentricity= E

\/7*

(5) Discuss and sketch the graph of the hyperbola with eccentricity= 5 and

distance of the normal focal chord =6.
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I11. Choose the correct answer.’ : (2x%5=10 marks)
1. Which of these is the correct spelling? We had a ...

A) disagreement B) dissagreement C) disagredament

2. What does the word tireless mean?

A) always feeling tired B) never feeling tired C) feeling less tired than someone else
3. if you heard that a band had re-formed, what would this mean?

A) formed again B) formed for the first time C) formed for the last time

4. Which of these words cannot be made into another word by adding the prefix 'sub'?

A) way B) marine C) book

5. What does the prefix 'dis’ do to the word appeared in this sentence?
The cat disappeared before her very eyes.

A) It tells you that the cat appeared bigger than before.

B) It tells you that the cat vanished.

C) It tells you that the act appeared to be further away.

IV- Choose the information that is most similar to the original sentence. (2x5=10 marks)
1. We agreed that John and Jim were to buy the food.

1) John and Jim would agree to buy the food for us.

2) John, Jim and we agree to buy the food.

3) We agree John and Jim would to bought the food.

4) John and Jim were chosen by us to by the food.

2. In Japan, even more than, China, people use bamboo for decoration.

1) Both the Japanese and the China se bamboo for the same decoration.

2) Only the Japanese use bamboo for more decoration than the Chinese.

3) The Japanese use more bamboo for decoration than the Chinese do.

4) Not only the Japanese, but also the Chinese, use bamboo for decoration.

3.1 am old enough to be your mother.

1) Your mother and I are exactly the same age.

2) Your mother and I are both older than you.

3) I am about the same age as your mother.

4) 1 am not nearly as old as your own mother.

4. Canada is similar to the United States in that the majority of its people speak English.
1) Everyone in Canada and the United States speaks English

2) Some people in Canada speak English but everyone in the States speaks that language.

3) Some people in the State speak English but everyone in Canada speaks that language.

4) Some people in Canada and the United States speak those languages other than English.

5. Many of the problems one finds in city and suburban life result from a lack of proper
planning.

1) We did not properly plan so there are some problems that we have.

2) We did not properly plan and we still do not have any problems.

3) We have properly planned so there are no problems.

4) We have properly planned but there are still many problems.

Best Wishes .... Pr. Marwa M. Abdelmotaleb
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I-Read the following passage, then answer the questions below: : {5x%2=10 marks)

Steamships were first introduced into the United States in 1807, and John Molson built the first
steamship in Canada (then called British North America) in 1809. By the 1830's dozens of steam
vessels were in use in Canada. They offered the traveler reliable transportation in comfortable
facilities-a welcome alternative to stagecoach travel, which at the best of times could only be
described as wretched. This commitment to dependable river transport became entrenched with
the investment of millions of dollars for the improvement of waterways which included the
construction of canals and lock systems. The Lachine and Welland canals, two of the most
important systems, were opened in 1825 and 1829, respectively. By the time that Upper and
Lower Canada were united into the Province of Canada in 1841. The public debt for canals was
more than one hundred dollars per capita, an enormous sum for the time. But it may not seem
such a great amount if we consider that improvements allowed steamboats to remain practical
for most commercial transport in Canada until the mid-nineteenth century.

1. The word "reliable" in line 3 is closest in meaning to which of the following.......................
(A) Quick (B) Safe (C) Dependable (D) Luxurious

2. Which of the following can be inferred from the passage about stagecoach travel in
Canada in the 1831's? .

(A) It was reasonably comfortable. (B) It was extremely efficient.

{C) It was not popular. (D) 1t was very practical.
3. According to the passage, when was the Welland Canal opened?

(A) 1807 (B) 1809 (C) 1825 (D) 1829
4. The word "sum" in line 9 is closest in meaning to which of the following?

(A) Size (B) Cost (C) Payment (D) Amount

5. According to the passage, steamships became practical means of transportation in
Canada because of.....

(A) improvements in the waterways (B) large subsidies from John Molson

(C) a relatively small population (D) the lack of alternate means

II- Complete using the suitable homophones. (2%10=20 marks)
A. “be” and “bee”:
I.A _ stung me at recess today.
2. She issupposedto  at work today.
3.1 laughed when Mom said | was “Busy as a
4. Hurry! Idon’t wantto  late.
B. “cent” and “scent” and “sent”
5.Tracy  her mom flowers for her birthday.
6. Vanilla is my favorite
7. A penny is worth one .
8
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. The from her perfume was strong.
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Choose the correct answer and write it in the answer table:

Section 1: from 1 to 20 (20 marks)

1. What are common components inside the system unit?

a) CPU - Ports- b)CPU- CD. - ¢) CPU- d) CPU-Monitor-
Power Supply | RAM-Mouth Keyboard- RAM | Ports

2 smsssszezzeses is manipulates raw data into more useful form and controls the other
parts of the computer system

a) CPU b) Mather board | ¢) Communication | d) control unit

devices

% s szavine devices store data and programs when they are not being used in
processing.

a) Input devices b) Output devices | ¢) Primary Storage d) Secondary Storage

. M are circuitry paths for transmitting data and signals among the parts of the

computer system.

a) Buses b)Storages c) RAM d) cards

5. It has High-capacity storage and Consists of several inflexible, circular platters
that store items electronically.

a) Hard disk b) Magnetic disk | ¢) RAM d) ROM
6. Touch screen is considered as .......
a) Input devices b) Output devices | ¢) Communication | d) control unit
devices
IR e o) v p—
a) 1 thousand bytes | b)1 thousand ¢)1 billion bytes | d) 1 trillion bytes
Megabyte

8. It is used for very large business, scientific or military application where a
computer must handle massive amounts of data or many complicated processes.
9

a)Micro b) Mainframe ¢) mini d) Super
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(3) Find the area bounded by : V = \/; and y=x.
(4)Find the volume V of the sclid formed by the revolving region bounded by
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the graphs of ¥ =X+2 and y=X" about the x- axis.

Second: Analytic geometry: ( 25 mark)
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(1) Write the following equation in the cartisian form : 7 C0S (‘9 - ?] =10
(2) Determine the radius and center of the circle: r* ++/3rcos@+rsin @ =27
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(3) Discuss and sketch the graph of the parabola: )V — 6y+2x+1=0
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I11. Choose the correct answer.’ : (2x%5=10 marks)
1. Which of these is the correct spelling? We had a ...

A) disagreement B) dissagreement C) disagredament

2. What does the word tireless mean?

A) always feeling tired B) never feeling tired C) feeling less tired than someone else
3. if you heard that a band had re-formed, what would this mean?

A) formed again B) formed for the first time C) formed for the last time

4. Which of these words cannot be made into another word by adding the prefix 'sub'?

A) way B) marine C) book

5. What does the prefix 'dis’ do to the word appeared in this sentence?
The cat disappeared before her very eyes.

A) It tells you that the cat appeared bigger than before.

B) It tells you that the cat vanished.

C) It tells you that the act appeared to be further away.

IV- Choose the information that is most similar to the original sentence. (2x5=10 marks)
1. We agreed that John and Jim were to buy the food.

1) John and Jim would agree to buy the food for us.

2) John, Jim and we agree to buy the food.

3) We agree John and Jim would to bought the food.

4) John and Jim were chosen by us to by the food.

2. In Japan, even more than, China, people use bamboo for decoration.

1) Both the Japanese and the China se bamboo for the same decoration.

2) Only the Japanese use bamboo for more decoration than the Chinese.

3) The Japanese use more bamboo for decoration than the Chinese do.

4) Not only the Japanese, but also the Chinese, use bamboo for decoration.

3.1 am old enough to be your mother.

1) Your mother and I are exactly the same age.

2) Your mother and I are both older than you.

3) I am about the same age as your mother.

4) 1 am not nearly as old as your own mother.

4. Canada is similar to the United States in that the majority of its people speak English.
1) Everyone in Canada and the United States speaks English

2) Some people in Canada speak English but everyone in the States speaks that language.

3) Some people in the State speak English but everyone in Canada speaks that language.

4) Some people in Canada and the United States speak those languages other than English.

5. Many of the problems one finds in city and suburban life result from a lack of proper
planning.

1) We did not properly plan so there are some problems that we have.

2) We did not properly plan and we still do not have any problems.

3) We have properly planned so there are no problems.

4) We have properly planned but there are still many problems.

Best Wishes .... Pr. Marwa M. Abdelmotaleb
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I-Read the following passage, then answer the questions below: : {5x%2=10 marks)

Steamships were first introduced into the United States in 1807, and John Molson built the first
steamship in Canada (then called British North America) in 1809. By the 1830's dozens of steam
vessels were in use in Canada. They offered the traveler reliable transportation in comfortable
facilities-a welcome alternative to stagecoach travel, which at the best of times could only be
described as wretched. This commitment to dependable river transport became entrenched with
the investment of millions of dollars for the improvement of waterways which included the
construction of canals and lock systems. The Lachine and Welland canals, two of the most
important systems, were opened in 1825 and 1829, respectively. By the time that Upper and
Lower Canada were united into the Province of Canada in 1841. The public debt for canals was
more than one hundred dollars per capita, an enormous sum for the time. But it may not seem
such a great amount if we consider that improvements allowed steamboats to remain practical
for most commercial transport in Canada until the mid-nineteenth century.

1. The word "reliable" in line 3 is closest in meaning to which of the following.......................
(A) Quick (B) Safe (C) Dependable (D) Luxurious

2. Which of the following can be inferred from the passage about stagecoach travel in
Canada in the 1831's? .

(A) It was reasonably comfortable. (B) It was extremely efficient.

{C) It was not popular. (D) 1t was very practical.
3. According to the passage, when was the Welland Canal opened?

(A) 1807 (B) 1809 (C) 1825 (D) 1829
4. The word "sum" in line 9 is closest in meaning to which of the following?

(A) Size (B) Cost (C) Payment (D) Amount

5. According to the passage, steamships became practical means of transportation in
Canada because of.....

(A) improvements in the waterways (B) large subsidies from John Molson

(C) a relatively small population (D) the lack of alternate means

II- Complete using the suitable homophones. (2%10=20 marks)
A. “be” and “bee”:
I.A _ stung me at recess today.
2. She issupposedto  at work today.
3.1 laughed when Mom said | was “Busy as a
4. Hurry! Idon’t wantto  late.
B. “cent” and “scent” and “sent”
5.Tracy  her mom flowers for her birthday.
6. Vanilla is my favorite
7. A penny is worth one .
8
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. The from her perfume was strong.
.Shewasone  short to pay for ice cream.
0. The scary movie shivers down my spine!
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[0 is considered as operating system T

a) windows b) linux c)Unix d) all pervious
solution
1. ..., convert application programs and any other software programs into the

machine language that actually controls the computer's operations.

a)utility Program b) Language ¢) Network d) comments
Translater
12, translateshigh-level language program into machine-language all
at once.
a) function b)Compilers c) Assemblers d) Interpreters
L3 i vns e when you run the program , the program give incorrect result .
a)logic error b) syntax error c)syntax error d)others
2

14. Letx =

}?) x*X

5

4
. How can we compute the [2 5]
6

36

c) x"2 d) x**x

b) x.\(2)

15. Which Matlab commands create a vector of the even whole numbers from 99
tol10

a)98:-2:10 b) 98:10,2 ¢)10:2:99 ’ d) 99:10:-2

16. In Matlab, which of the following symbols cannot be used in the condition
statement of an IF statement?

a) > [b) <= o) = d) =
17. The number in binary sytem is called .........

a) Bit b) bin o) byte ‘ d) bsys

18. In flow chart, we can express to decision and start with ............ ..

Y= PP L TP

19. When we use calculate the area of circle shape with no condition, the algorithm
is considered as ..............

a)sequence b)loop ¢)branching d)other

20 command is to delete all variable values.

a) del b) clc ¢) clear d) rem
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Choose the correct answer and write it in the answer table:

Section 1: from 1 to 20 (20 marks)

1. What are common components inside the system unit?

a) CPU - Ports- b)CPU- CD. - ¢) CPU- d) CPU-Monitor-
Power Supply | RAM-Mouth Keyboard- RAM | Ports

2 smsssszezzeses is manipulates raw data into more useful form and controls the other
parts of the computer system

a) CPU b) Mather board | ¢) Communication | d) control unit

devices

% s szavine devices store data and programs when they are not being used in
processing.

a) Input devices b) Output devices | ¢) Primary Storage d) Secondary Storage

. M are circuitry paths for transmitting data and signals among the parts of the

computer system.

a) Buses b)Storages c) RAM d) cards

5. It has High-capacity storage and Consists of several inflexible, circular platters
that store items electronically.

a) Hard disk b) Magnetic disk | ¢) RAM d) ROM
6. Touch screen is considered as .......
a) Input devices b) Output devices | ¢) Communication | d) control unit
devices
IR e o) v p—
a) 1 thousand bytes | b)1 thousand ¢)1 billion bytes | d) 1 trillion bytes
Megabyte

8. It is used for very large business, scientific or military application where a
computer must handle massive amounts of data or many complicated processes.
9

a)Micro b) Mainframe ¢) mini d) Super
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First: The integration: Find the following integraIS' ( 25 mark)

O @ fsin'vde, O] v, @

2) (a) j ¢ cosxdx, (b)jx/l—xzdx, (C)Txexdx

2
(3) Find the area bounded by : V = \/; and y=x.
(4)Find the volume V of the sclid formed by the revolving region bounded by

2
the graphs of ¥ =X+2 and y=X" about the x- axis.

Second: Analytic geometry: ( 25 mark)

T
(1) Write the following equation in the cartisian form : 7 C0S (‘9 - ?] =10
(2) Determine the radius and center of the circle: r* ++/3rcos@+rsin @ =27

2
(3) Discuss and sketch the graph of the parabola: )V — 6y+2x+1=0

3 .
(4) Discuss and sketch the graph of the ellipse with foci (J—r 5 ,Oj and its

.. 1
eccentricity= E

\/7*

(5) Discuss and sketch the graph of the hyperbola with eccentricity= 5 and

distance of the normal focal chord =6.
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I11. Choose the correct answer.’ : (2x%5=10 marks)
1. Which of these is the correct spelling? We had a ...

A) disagreement B) dissagreement C) disagredament

2. What does the word tireless mean?

A) always feeling tired B) never feeling tired C) feeling less tired than someone else
3. if you heard that a band had re-formed, what would this mean?

A) formed again B) formed for the first time C) formed for the last time

4. Which of these words cannot be made into another word by adding the prefix 'sub'?

A) way B) marine C) book

5. What does the prefix 'dis’ do to the word appeared in this sentence?
The cat disappeared before her very eyes.

A) It tells you that the cat appeared bigger than before.

B) It tells you that the cat vanished.

C) It tells you that the act appeared to be further away.

IV- Choose the information that is most similar to the original sentence. (2x5=10 marks)
1. We agreed that John and Jim were to buy the food.

1) John and Jim would agree to buy the food for us.

2) John, Jim and we agree to buy the food.

3) We agree John and Jim would to bought the food.

4) John and Jim were chosen by us to by the food.

2. In Japan, even more than, China, people use bamboo for decoration.

1) Both the Japanese and the China se bamboo for the same decoration.

2) Only the Japanese use bamboo for more decoration than the Chinese.

3) The Japanese use more bamboo for decoration than the Chinese do.

4) Not only the Japanese, but also the Chinese, use bamboo for decoration.

3.1 am old enough to be your mother.

1) Your mother and I are exactly the same age.

2) Your mother and I are both older than you.

3) I am about the same age as your mother.

4) 1 am not nearly as old as your own mother.

4. Canada is similar to the United States in that the majority of its people speak English.
1) Everyone in Canada and the United States speaks English

2) Some people in Canada speak English but everyone in the States speaks that language.

3) Some people in the State speak English but everyone in Canada speaks that language.

4) Some people in Canada and the United States speak those languages other than English.

5. Many of the problems one finds in city and suburban life result from a lack of proper
planning.

1) We did not properly plan so there are some problems that we have.

2) We did not properly plan and we still do not have any problems.

3) We have properly planned so there are no problems.

4) We have properly planned but there are still many problems.

Best Wishes .... Pr. Marwa M. Abdelmotaleb
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Second Semester ~ Final Exam — May 2018
Course: English Language (2)
Time Allowed: Two Hours
Total Score: 50 Marks
Date: 22-5-2018

»

I-Read the following passage, then answer the questions below: : {5x%2=10 marks)

Steamships were first introduced into the United States in 1807, and John Molson built the first
steamship in Canada (then called British North America) in 1809. By the 1830's dozens of steam
vessels were in use in Canada. They offered the traveler reliable transportation in comfortable
facilities-a welcome alternative to stagecoach travel, which at the best of times could only be
described as wretched. This commitment to dependable river transport became entrenched with
the investment of millions of dollars for the improvement of waterways which included the
construction of canals and lock systems. The Lachine and Welland canals, two of the most
important systems, were opened in 1825 and 1829, respectively. By the time that Upper and
Lower Canada were united into the Province of Canada in 1841. The public debt for canals was
more than one hundred dollars per capita, an enormous sum for the time. But it may not seem
such a great amount if we consider that improvements allowed steamboats to remain practical
for most commercial transport in Canada until the mid-nineteenth century.

1. The word "reliable" in line 3 is closest in meaning to which of the following.......................
(A) Quick (B) Safe (C) Dependable (D) Luxurious

2. Which of the following can be inferred from the passage about stagecoach travel in
Canada in the 1831's? .

(A) It was reasonably comfortable. (B) It was extremely efficient.

{C) It was not popular. (D) 1t was very practical.
3. According to the passage, when was the Welland Canal opened?

(A) 1807 (B) 1809 (C) 1825 (D) 1829
4. The word "sum" in line 9 is closest in meaning to which of the following?

(A) Size (B) Cost (C) Payment (D) Amount

5. According to the passage, steamships became practical means of transportation in
Canada because of.....

(A) improvements in the waterways (B) large subsidies from John Molson

(C) a relatively small population (D) the lack of alternate means

II- Complete using the suitable homophones. (2%10=20 marks)
A. “be” and “bee”:
I.A _ stung me at recess today.
2. She issupposedto  at work today.
3.1 laughed when Mom said | was “Busy as a
4. Hurry! Idon’t wantto  late.
B. “cent” and “scent” and “sent”
5.Tracy  her mom flowers for her birthday.
6. Vanilla is my favorite
7. A penny is worth one .
8
9
]

. The from her perfume was strong.
.Shewasone  short to pay for ice cream.
0. The scary movie shivers down my spine!
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oM ay Final Exam for Level 1 Mathematics Dept.

%Z ' Subject: Mathematical and Statistical Faculty of Science
e Packages, MC100 " Assiut University
2017/2018

Time: 2 Hours

Choose the correct answer and write it in the answer table:

Section 1: from 1 to 20 (20 marks)

1. What are common components inside the system unit?

a) CPU - Ports- b)CPU- CD. - c) CPU- d) CPU-Monitor-
Power Supply | RAM-Mouth Keyboard- RAM | Ports

Py 53 suosmmmmemaes is manipulates raw data into more useful form and controls the other
parts of the computer system

a) CPU b) Mather board | ¢) Communication | d) control unit

devices

B e devices store data and programs when they are not being used in
processing.

a) Input devices b) Output devices | ¢) Primary Storage | d) Secondary Storage

4. are circuitry paths for transmitting data and signals among the parts of the

computer system.

a) Buses b)Storages c) RAM d) cards

5. It has High-capacity storage and Consists of several inflexible, circular platters
that store items electronically.

a) Hard disk b) Magnetic disk | ¢) RAM d) ROM
6. Touch screen is considered as .......
a) Input devices b) Output devices | ¢) Communication | d) control unit
devices
7. Gigabyte= .........coceiiiiiiiiiiinn.
a) 1 thousand bytes | b)1 thousand c)! billion bytes | d) 1 trillion bytes
Megabyte

8. Itisused for very large business, scientific or military application where a
computer must handle massive amounts of data or many complicated processes.

2

a)Micro b) Mainframe ¢) mini d) Super




[0 is considered as operating system T

a) windows b) linux c)Unix d) all pervious
solution
1. ..., convert application programs and any other software programs into the

machine language that actually controls the computer's operations.

a)utility Program b) Language ¢) Network d) comments
Translater
12, translateshigh-level language program into machine-language all
at once.
a) function b)Compilers c) Assemblers d) Interpreters
L3 i vns e when you run the program , the program give incorrect result .
a)logic error b) syntax error c)syntax error d)others
2

14. Letx =

}?) x*X

5

4
. How can we compute the [2 5]
6

36

c) x"2 d) x**x

b) x.\(2)

15. Which Matlab commands create a vector of the even whole numbers from 99
tol10

a)98:-2:10 b) 98:10,2 ¢)10:2:99 ’ d) 99:10:-2

16. In Matlab, which of the following symbols cannot be used in the condition
statement of an IF statement?

a) > [b) <= o) = d) =
17. The number in binary sytem is called .........

a) Bit b) bin o) byte ‘ d) bsys

18. In flow chart, we can express to decision and start with ............ ..

Y= PP L TP

19. When we use calculate the area of circle shape with no condition, the algorithm
is considered as ..............

a)sequence b)loop ¢)branching d)other

20 command is to delete all variable values.

a) del b) clc ¢) clear d) rem




oM ey Final Exam fof Level 1 Mathematics Dept.

' 52 Subject: Mathematical and Statistical Faculty of Science

e Packages, MC100 Assiut University

2017/2018 Time: 2 Hours

Choose the correct answer and write it in the answer table:

Section 1: from 1 to 20 (20 marks)

1. What are common components inside the system unit?

a) CPU - Ports- b)CPU- CD. - ¢) CPU- d) CPU-Monitor-
Power Supply | RAM-Mouth Keyboard- RAM | Ports

2 smsssszezzeses is manipulates raw data into more useful form and controls the other
parts of the computer system

a) CPU b) Mather board | ¢) Communication | d) control unit

devices

% s szavine devices store data and programs when they are not being used in
processing.

a) Input devices b) Output devices | ¢) Primary Storage d) Secondary Storage

. M are circuitry paths for transmitting data and signals among the parts of the

computer system.

a) Buses b)Storages c) RAM d) cards

5. It has High-capacity storage and Consists of several inflexible, circular platters
that store items electronically.

a) Hard disk b) Magnetic disk | ¢) RAM d) ROM
6. Touch screen is considered as .......
a) Input devices b) Output devices | ¢) Communication | d) control unit
devices
IR e o) v p—
a) 1 thousand bytes | b)1 thousand ¢)1 billion bytes | d) 1 trillion bytes
Megabyte

8. It is used for very large business, scientific or military application where a
computer must handle massive amounts of data or many complicated processes.
9

a)Micro b) Mainframe ¢) mini d) Super




s e e L e L e L et s e e et et e hs e e a ot teabaen e bt st eeeneanennanenesesnrenrensnnnnnsannnnmn

Assuit University Surveying section
Faculty of Engineering Final Exam , Pre. Geodesy
Dept. of civil eng. May 2018 Time: 2 hours

.............................................................................................................................................
-

(208 & %Yo = 9 %Yo =1):dg¥ gl
olarall 0l 3591 oladtuly L LS 45 gaall 5 53 gua yall W 3 ] Admgunl & yLall alaiia (1)

ar=30" 10" 15 P=3
=21 15 08 P=2
=16 06 12 P=1
=51 25 24 P=4
as=37 21 22 P=2
=67 31 38 P=8

B

z}'u.m; uLuAAt.J}U:A.“ $Q|j\}”'b’.\}m~)ﬂ
Z\JJMM\JSHQ;@J@L»;M‘@LJ}W
B3y gall oy 5l e g g8 J< ol A i

Cood e %Yo =2 5 %Y+ =0y %0 =1 ): I g
A el dalusall g Lpnass piall Aalisall (p Ll cliDERY) Lmialy Sy

HE L1 10, Y b () Aaill plis g e i 98,0 g () Al plis iy oS Y, pe ALsall o o f i ()
Ssag gl () daill (e oS £9,Y Alse o (@ ) Opdasd) Gadd o 5 YY, Y Lgeli )l () oAl cin g
RN G A 5l Jals ey oo da e Gl By ol aga g pae s e (@ Ty oniyyy dits

JSAl i ge 58 LS hdl@l!&lﬁi)‘QM@)@@&‘QM@‘M@_QM\M&@J C ¢ A gkl (o)
<O 5 h e 38 qaal A 3515 00 5 ke &L G Gl 5 e 5k y ¢ g U

b=128.56 + 0.008 m
1=82" 41° 15" % 10"
y=84 20 10 * 15"
=15 05 15 + 20"

b siny tans

sin{a + y)

______ LA Gl S0 i) ALY gl -




Department of Mathematics <l waly o b

Faculty of Science ps ST T
KIXPYER \Vu.:l.d\u.ub.ﬁ\&mﬂ s el
doelia plas A — asle Ao e 45,81
e\'.\/\/@/\i;é.j\)&\ %JJO.M}&%JJM (J\~D)hbﬂgubg);)ﬂd\w\

el 103l

_ Ay ALY e
First: The integration: Find the following integraIS' ( 25 mark)

O @ fsin'vde, O] v, @

2) (a) j ¢ cosxdx, (b)jx/l—xzdx, (C)Txexdx

2
(3) Find the area bounded by : V = \/; and y=x.
(4)Find the volume V of the sclid formed by the revolving region bounded by

2
the graphs of ¥ =X+2 and y=X" about the x- axis.

Second: Analytic geometry: ( 25 mark)

T
(1) Write the following equation in the cartisian form : 7 C0S (‘9 - ?] =10
(2) Determine the radius and center of the circle: r* ++/3rcos@+rsin @ =27

2
(3) Discuss and sketch the graph of the parabola: )V — 6y+2x+1=0

3 .
(4) Discuss and sketch the graph of the ellipse with foci (J—r 5 ,Oj and its

.. 1
eccentricity= E

\/7*

(5) Discuss and sketch the graph of the hyperbola with eccentricity= 5 and

distance of the normal focal chord =6.
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I11. Choose the correct answer.’ : (2x%5=10 marks)
1. Which of these is the correct spelling? We had a ...

A) disagreement B) dissagreement C) disagredament

2. What does the word tireless mean?

A) always feeling tired B) never feeling tired C) feeling less tired than someone else
3. if you heard that a band had re-formed, what would this mean?

A) formed again B) formed for the first time C) formed for the last time

4. Which of these words cannot be made into another word by adding the prefix 'sub'?

A) way B) marine C) book

5. What does the prefix 'dis’ do to the word appeared in this sentence?
The cat disappeared before her very eyes.

A) It tells you that the cat appeared bigger than before.

B) It tells you that the cat vanished.

C) It tells you that the act appeared to be further away.

IV- Choose the information that is most similar to the original sentence. (2x5=10 marks)
1. We agreed that John and Jim were to buy the food.

1) John and Jim would agree to buy the food for us.

2) John, Jim and we agree to buy the food.

3) We agree John and Jim would to bought the food.

4) John and Jim were chosen by us to by the food.

2. In Japan, even more than, China, people use bamboo for decoration.

1) Both the Japanese and the China se bamboo for the same decoration.

2) Only the Japanese use bamboo for more decoration than the Chinese.

3) The Japanese use more bamboo for decoration than the Chinese do.

4) Not only the Japanese, but also the Chinese, use bamboo for decoration.

3.1 am old enough to be your mother.

1) Your mother and I are exactly the same age.

2) Your mother and I are both older than you.

3) I am about the same age as your mother.

4) 1 am not nearly as old as your own mother.

4. Canada is similar to the United States in that the majority of its people speak English.
1) Everyone in Canada and the United States speaks English

2) Some people in Canada speak English but everyone in the States speaks that language.

3) Some people in the State speak English but everyone in Canada speaks that language.

4) Some people in Canada and the United States speak those languages other than English.

5. Many of the problems one finds in city and suburban life result from a lack of proper
planning.

1) We did not properly plan so there are some problems that we have.

2) We did not properly plan and we still do not have any problems.

3) We have properly planned so there are no problems.

4) We have properly planned but there are still many problems.

Best Wishes .... Pr. Marwa M. Abdelmotaleb
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Second Semester ~ Final Exam — May 2018
Course: English Language (2)
Time Allowed: Two Hours
Total Score: 50 Marks
Date: 22-5-2018

»

I-Read the following passage, then answer the questions below: : {5x%2=10 marks)

Steamships were first introduced into the United States in 1807, and John Molson built the first
steamship in Canada (then called British North America) in 1809. By the 1830's dozens of steam
vessels were in use in Canada. They offered the traveler reliable transportation in comfortable
facilities-a welcome alternative to stagecoach travel, which at the best of times could only be
described as wretched. This commitment to dependable river transport became entrenched with
the investment of millions of dollars for the improvement of waterways which included the
construction of canals and lock systems. The Lachine and Welland canals, two of the most
important systems, were opened in 1825 and 1829, respectively. By the time that Upper and
Lower Canada were united into the Province of Canada in 1841. The public debt for canals was
more than one hundred dollars per capita, an enormous sum for the time. But it may not seem
such a great amount if we consider that improvements allowed steamboats to remain practical
for most commercial transport in Canada until the mid-nineteenth century.

1. The word "reliable" in line 3 is closest in meaning to which of the following.......................
(A) Quick (B) Safe (C) Dependable (D) Luxurious

2. Which of the following can be inferred from the passage about stagecoach travel in
Canada in the 1831's? .

(A) It was reasonably comfortable. (B) It was extremely efficient.

{C) It was not popular. (D) 1t was very practical.
3. According to the passage, when was the Welland Canal opened?

(A) 1807 (B) 1809 (C) 1825 (D) 1829
4. The word "sum" in line 9 is closest in meaning to which of the following?

(A) Size (B) Cost (C) Payment (D) Amount

5. According to the passage, steamships became practical means of transportation in
Canada because of.....

(A) improvements in the waterways (B) large subsidies from John Molson

(C) a relatively small population (D) the lack of alternate means

II- Complete using the suitable homophones. (2%10=20 marks)
A. “be” and “bee”:
I.A _ stung me at recess today.
2. She issupposedto  at work today.
3.1 laughed when Mom said | was “Busy as a
4. Hurry! Idon’t wantto  late.
B. “cent” and “scent” and “sent”
5.Tracy  her mom flowers for her birthday.
6. Vanilla is my favorite
7. A penny is worth one .
8
9
]

. The from her perfume was strong.
.Shewasone  short to pay for ice cream.
0. The scary movie shivers down my spine!
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21. Command

Is used to random number between [2,10]

a)10*rand+2

b)8*rand+2

¢) rand(2,10)

d)2%rand(2,10)

Answer Table Section 1

Question | 1| 2| 3

41 5|67

Answer

Question | 11| 12 13

14 | 15| 16 | 17

18

19 20

Answer

Section 2: (20 marks)

1. What is the value of k after the Matlab code below executes?

k=1,
SJori=1:2:10
k=k+i;
end
disp(k)
a) 26 b)10 c)2 d)s
2. The output of the following code is:
x=10;
y=35
ifx>10
y =y+5;
end
disp(1);
a) 0 'b) 6 [o) 5 [ d) 10
3. What is the value of b where x=[1 2 5 4]; b=find(x>2) b=......
4.
a) [12] b) 3 4] o) [54] d) [0011]
5. To find the root of the equation, we will use matlab command ..........
a)root b) dsolve ¢) Rsolve d)Solve
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X=X+2;

NUM=NUM-+1; end

a) 3 times

b) 4 times

¢) Stimes

.

d) 6 times

13. Convert electronic data produced by the computer system and display them in a form
that people can understand. :

a) Input devices b) Output devices |c) Monitor d) Printer
SR is used for short-term storage of data or program instructions
a) Hard disk b) ROM ¢) RAM d) CPU o L
15, «ooses is used as Programs, Commands and user responses .
a) Data b) Commands c) Software d) Instructions
Answer Table
Question | 3 4 5 6 7 8 9 10 | 11 12 | 13 | 14 | 15}
Answer v ‘
Question 2:
Write the output of the following blocks of code: (10 Marks)
No Code Output
Lin=23;
while (n >=0)
disp (n * n)
p=n-1;
__|end .
2x=2y=3;

% disp (x+y)

disp (~m)

disp (~ (j - m))

3i=lj=2;k=3;m=2;
disp(k+m<jl|j3-j>=k)

disp (m <= 99 && k <m)

4li=1;
while (i < 10)
i=itl;

disp (i)
end
end

if (mod (i , 3) == 0)

2|




2 Assiut University Final Exam Date :20/5/2018 Y
3 u..!z[ : Faculty of Science introduction to computer Level: first o
o T Mathematics Dept. Code: (100MC) Time: 2 Hour —
Answer the following questions: (50 Marks)
Question 1:
. Choose the correct answer and write it in the answer table: (15 Marks)

1. Letx=[25 1 6]. How can we compute the [2* 57 1> 6°]?

a) x*x | b) x./2 | c) x"2 | d) x**x m
2. Given the matrix A =[1 5 7;2 6 4; 3 8 2], which value is referenced by A(2,1)?
2) 8 [b) 2 lo) 6 1d) 5 |
3. Which Matlab command is used to execute a set of commands under condition.
| ) while [ b) for | o)if [ d) disp }
4. What is the correct way to write the condition y < x <z?
a) (y<x) || (x<z) |b) (y<x) && (x<z) [¢) (y<x)or(x<z) d) (y<X) and(x<z)
5. When we use the repetition, the algorithm is considered as .............
a) sequence b) loop ¢)branching d)other
6. We can classify the algorithm in three different type..........cccooceeee.
a) sequence, b) branching, ¢) sequence, d) selection,
selection, branching | calculation and loop branching and loop | calculation and loop
7. Transmits signal specifying whether to read or write data to or from primary éioragémw “
address, input device or output device.
ra) Address bus | b) Data bus | ¢) Control bus | d) cards j
8. Directs and coordinates operations in computer
[a) Controlunit | b) CPU [c) RAM | d) ROM ]
9. The devices provide connections between the computer and communications networks.
a) CPU b) Internet ¢) Communication | d) control unit
devices
10. What is the value of x after the following code? x=10; %x = 2*x+1;

a) 21

b) 10

¢) No value

d) Error formula

il

1f we have information with size 32 bits, what is equivalent size in

nibble?

a) 4

b) 32

c) 8

d) No relation

12. How many times is the while loop executed?
X =0; NUM =2; SUM = 3;

while (X <= 5)

SUM = SUM + X
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Section 3: (10 marks)

1. Find the error in the following codes
a) Function (a,b)=res(x,y)
for k=100:2:10
a=x(i)+y(1);
b =x(i)*y(i);

b) D='Ahmed'
Sfori=1:10
disp(D(i))

2. Write an algorithm and draw the flowchart that reads two values, determines
the smallest value and prints the smallest value with an identifying message.

The algorithm

The flowchart

Best Wishes
rﬁT. t;%faaaf‘ahdim



6. Find the output
k=1
Fori=1:4
a(k) =1"2
k=k+1;
end
disp(a)

2)16 b)[149 16] o[ 1235] a1 16]

7. exp(x)thatmean ............................

a)except x b)e* cleye x d)others

8. Convert the following to their binary equivalents: 154.0573

a) 1101100.0101111 | b) 101011.101011 | ¢) 101001.101111 | d)1001101100.11111

9. The product of 10101*101 equals

a) 1101001 b) 1011111 c) 1101111 | d)y 111111
1 2 3
10. What the value of b,if A=|5 3 0|and b=min(A,[],2)
-1 9 1
a)[120] b)[10-1] c)[-120] d) others

11. The number 75735 equivalents to hexa-decimal number

a) F7/B b) E7B ) FF7 d) BSF

Answer Table Section 2
Question 1 12 |3 |4 |5 |6 |7 |[8]9 |10

Answer




21. Command

Is used to random number between [2,10]

a)10*rand+2

b)8*rand+2

¢) rand(2,10)

d)2%rand(2,10)

Answer Table Section 1

Question | 1| 2| 3

41 5|67

Answer

Question | 11| 12 13

14 | 15| 16 | 17

18

19 20

Answer

Section 2: (20 marks)

1. What is the value of k after the Matlab code below executes?

k=1,
SJori=1:2:10
k=k+i;
end
disp(k)
a) 26 b)10 c)2 d)s
2. The output of the following code is:
x=10;
y=35
ifx>10
y =y+5;
end
disp(1);
a) 0 'b) 6 [o) 5 [ d) 10
3. What is the value of b where x=[1 2 5 4]; b=find(x>2) b=......
4.
a) [12] b) 3 4] o) [54] d) [0011]
5. To find the root of the equation, we will use matlab command ..........
a)root b) dsolve ¢) Rsolve d)Solve
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Section 3: (10 marks)

1. Find the error in the following codes
a) Function (a,b)=res(x,y)
for k=100:2:10
a=x(i)+y(1);
b =x(i)*y(i);

b) D='Ahmed'
Sfori=1:10
disp(D(i))

2. Write an algorithm and draw the flowchart that reads two values, determines
the smallest value and prints the smallest value with an identifying message.

The algorithm

The flowchart

Best Wishes
rﬁT. t;%faaaf‘ahdim



6. Find the output
k=1
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a(k) =1"2
k=k+1;
end
disp(a)

2)16 b)[149 16] o[ 1235] a1 16]
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X=X+2;

NUM=NUM-+1; end

a) 3 times

b) 4 times

¢) Stimes

.

d) 6 times

13. Convert electronic data produced by the computer system and display them in a form
that people can understand. :

a) Input devices b) Output devices |c) Monitor d) Printer
SR is used for short-term storage of data or program instructions
a) Hard disk b) ROM ¢) RAM d) CPU o L
15, «ooses is used as Programs, Commands and user responses .
a) Data b) Commands c) Software d) Instructions
Answer Table
Question | 3 4 5 6 7 8 9 10 | 11 12 | 13 | 14 | 15}
Answer v ‘
Question 2:
Write the output of the following blocks of code: (10 Marks)
No Code Output
Lin=23;
while (n >=0)
disp (n * n)
p=n-1;
__|end .
2x=2y=3;

% disp (x+y)

disp (~m)

disp (~ (j - m))

3i=lj=2;k=3;m=2;
disp(k+m<jl|j3-j>=k)

disp (m <= 99 && k <m)

4li=1;
while (i < 10)
i=itl;

disp (i)
end
end

if (mod (i , 3) == 0)

2|




2 Assiut University Final Exam Date :20/5/2018 Y
3 u..!z[ : Faculty of Science introduction to computer Level: first o
o T Mathematics Dept. Code: (100MC) Time: 2 Hour —
Answer the following questions: (50 Marks)
Question 1:
. Choose the correct answer and write it in the answer table: (15 Marks)

1. Letx=[25 1 6]. How can we compute the [2* 57 1> 6°]?

a) x*x | b) x./2 | c) x"2 | d) x**x m
2. Given the matrix A =[1 5 7;2 6 4; 3 8 2], which value is referenced by A(2,1)?
2) 8 [b) 2 lo) 6 1d) 5 |
3. Which Matlab command is used to execute a set of commands under condition.
| ) while [ b) for | o)if [ d) disp }
4. What is the correct way to write the condition y < x <z?
a) (y<x) || (x<z) |b) (y<x) && (x<z) [¢) (y<x)or(x<z) d) (y<X) and(x<z)
5. When we use the repetition, the algorithm is considered as .............
a) sequence b) loop ¢)branching d)other
6. We can classify the algorithm in three different type..........cccooceeee.
a) sequence, b) branching, ¢) sequence, d) selection,
selection, branching | calculation and loop branching and loop | calculation and loop
7. Transmits signal specifying whether to read or write data to or from primary éioragémw “
address, input device or output device.
ra) Address bus | b) Data bus | ¢) Control bus | d) cards j
8. Directs and coordinates operations in computer
[a) Controlunit | b) CPU [c) RAM | d) ROM ]
9. The devices provide connections between the computer and communications networks.
a) CPU b) Internet ¢) Communication | d) control unit
devices
10. What is the value of x after the following code? x=10; %x = 2*x+1;

a) 21

b) 10

¢) No value

d) Error formula

il

1f we have information with size 32 bits, what is equivalent size in

nibble?

a) 4

b) 32

c) 8

d) No relation

12. How many times is the while loop executed?
X =0; NUM =2; SUM = 3;

while (X <= 5)

SUM = SUM + X

1]
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Section 3: (10 marks)

1. Find the error in the following codes
a) Function (a,b)=res(x,y)
for k=100:2:10
a=x(i)+y(1);
b =x(i)*y(i);

b) D='Ahmed'
Sfori=1:10
disp(D(i))

2. Write an algorithm and draw the flowchart that reads two values, determines
the smallest value and prints the smallest value with an identifying message.

The algorithm

The flowchart

Best Wishes
rﬁT. t;%faaaf‘ahdim



6. Find the output
k=1
Fori=1:4
a(k) =1"2
k=k+1;
end
disp(a)

2)16 b)[149 16] o[ 1235] a1 16]

7. exp(x)thatmean ............................

a)except x b)e* cleye x d)others

8. Convert the following to their binary equivalents: 154.0573

a) 1101100.0101111 | b) 101011.101011 | ¢) 101001.101111 | d)1001101100.11111

9. The product of 10101*101 equals

a) 1101001 b) 1011111 c) 1101111 | d)y 111111
1 2 3
10. What the value of b,if A=|5 3 0|and b=min(A,[],2)
-1 9 1
a)[120] b)[10-1] c)[-120] d) others

11. The number 75735 equivalents to hexa-decimal number

a) F7/B b) E7B ) FF7 d) BSF

Answer Table Section 2
Question 1 12 |3 |4 |5 |6 |7 |[8]9 |10

Answer




21. Command

Is used to random number between [2,10]

a)10*rand+2

b)8*rand+2

¢) rand(2,10)

d)2%rand(2,10)

Answer Table Section 1

Question | 1| 2| 3

41 5|67

Answer

Question | 11| 12 13

14 | 15| 16 | 17

18

19 20

Answer

Section 2: (20 marks)

1. What is the value of k after the Matlab code below executes?

k=1,
SJori=1:2:10
k=k+i;
end
disp(k)
a) 26 b)10 c)2 d)s
2. The output of the following code is:
x=10;
y=35
ifx>10
y =y+5;
end
disp(1);
a) 0 'b) 6 [o) 5 [ d) 10
3. What is the value of b where x=[1 2 5 4]; b=find(x>2) b=......
4.
a) [12] b) 3 4] o) [54] d) [0011]
5. To find the root of the equation, we will use matlab command ..........
a)root b) dsolve ¢) Rsolve d)Solve
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Section 3: (10 marks)

1. Find the error in the following codes
a) Function (a,b)=res(x,y)
for k=100:2:10
a=x(i)+y(1);
b =x(i)*y(i);

b) D='Ahmed'
Sfori=1:10
disp(D(i))

2. Write an algorithm and draw the flowchart that reads two values, determines
the smallest value and prints the smallest value with an identifying message.

The algorithm

The flowchart

Best Wishes
rﬁT. t;%faaaf‘ahdim



6. Find the output
k=1
Fori=1:4
a(k) =1"2
k=k+1;
end
disp(a)

2)16 b)[149 16] o[ 1235] a1 16]

7. exp(x)thatmean ............................

a)except x b)e* cleye x d)others

8. Convert the following to their binary equivalents: 154.0573

a) 1101100.0101111 | b) 101011.101011 | ¢) 101001.101111 | d)1001101100.11111

9. The product of 10101*101 equals

a) 1101001 b) 1011111 c) 1101111 | d)y 111111
1 2 3
10. What the value of b,if A=|5 3 0|and b=min(A,[],2)
-1 9 1
a)[120] b)[10-1] c)[-120] d) others

11. The number 75735 equivalents to hexa-decimal number

a) F7/B b) E7B ) FF7 d) BSF

Answer Table Section 2
Question 1 12 |3 |4 |5 |6 |7 |[8]9 |10

Answer




21. Command

Is used to random number between [2,10]

a)10*rand+2

b)8*rand+2

¢) rand(2,10)

d)2%rand(2,10)

Answer Table Section 1

Question | 1| 2| 3

41 5|67

Answer

Question | 11| 12 13

14 | 15| 16 | 17

18

19 20

Answer

Section 2: (20 marks)

1. What is the value of k after the Matlab code below executes?

k=1,
SJori=1:2:10
k=k+i;
end
disp(k)
a) 26 b)10 c)2 d)s
2. The output of the following code is:
x=10;
y=35
ifx>10
y =y+5;
end
disp(1);
a) 0 'b) 6 [o) 5 [ d) 10
3. What is the value of b where x=[1 2 5 4]; b=find(x>2) b=......
4.
a) [12] b) 3 4] o) [54] d) [0011]
5. To find the root of the equation, we will use matlab command ..........
a)root b) dsolve ¢) Rsolve d)Solve




2 Assiut University Final Exam Date :20/5/2018 Y
3 u..!z[ : Faculty of Science introduction to computer Level: first o
o T Mathematics Dept. Code: (100MC) Time: 2 Hour —
Answer the following questions: (50 Marks)
Question 1:
. Choose the correct answer and write it in the answer table: (15 Marks)

1. Letx=[25 1 6]. How can we compute the [2* 57 1> 6°]?

a) x*x | b) x./2 | c) x"2 | d) x**x m
2. Given the matrix A =[1 5 7;2 6 4; 3 8 2], which value is referenced by A(2,1)?
2) 8 [b) 2 lo) 6 1d) 5 |
3. Which Matlab command is used to execute a set of commands under condition.
| ) while [ b) for | o)if [ d) disp }
4. What is the correct way to write the condition y < x <z?
a) (y<x) || (x<z) |b) (y<x) && (x<z) [¢) (y<x)or(x<z) d) (y<X) and(x<z)
5. When we use the repetition, the algorithm is considered as .............
a) sequence b) loop ¢)branching d)other
6. We can classify the algorithm in three different type..........cccooceeee.
a) sequence, b) branching, ¢) sequence, d) selection,
selection, branching | calculation and loop branching and loop | calculation and loop
7. Transmits signal specifying whether to read or write data to or from primary éioragémw “
address, input device or output device.
ra) Address bus | b) Data bus | ¢) Control bus | d) cards j
8. Directs and coordinates operations in computer
[a) Controlunit | b) CPU [c) RAM | d) ROM ]
9. The devices provide connections between the computer and communications networks.
a) CPU b) Internet ¢) Communication | d) control unit
devices
10. What is the value of x after the following code? x=10; %x = 2*x+1;

a) 21

b) 10

¢) No value

d) Error formula

il

1f we have information with size 32 bits, what is equivalent size in

nibble?

a) 4

b) 32

c) 8

d) No relation

12. How many times is the while loop executed?
X =0; NUM =2; SUM = 3;

while (X <= 5)

SUM = SUM + X
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Section 3: (10 marks)

1. Find the error in the following codes
a) Function (a,b)=res(x,y)
for k=100:2:10
a=x(i)+y(1);
b =x(i)*y(i);

b) D='Ahmed'
Sfori=1:10
disp(D(i))

2. Write an algorithm and draw the flowchart that reads two values, determines
the smallest value and prints the smallest value with an identifying message.

The algorithm

The flowchart

Best Wishes
rﬁT. t;%faaaf‘ahdim



6. Find the output
k=1
Fori=1:4
a(k) =1"2
k=k+1;
end
disp(a)

2)16 b)[149 16] o[ 1235] a1 16]

7. exp(x)thatmean ............................

a)except x b)e* cleye x d)others

8. Convert the following to their binary equivalents: 154.0573

a) 1101100.0101111 | b) 101011.101011 | ¢) 101001.101111 | d)1001101100.11111

9. The product of 10101*101 equals

a) 1101001 b) 1011111 c) 1101111 | d)y 111111
1 2 3
10. What the value of b,if A=|5 3 0|and b=min(A,[],2)
-1 9 1
a)[120] b)[10-1] c)[-120] d) others

11. The number 75735 equivalents to hexa-decimal number

a) F7/B b) E7B ) FF7 d) BSF

Answer Table Section 2
Question 1 12 |3 |4 |5 |6 |7 |[8]9 |10

Answer




21. Command

Is used to random number between [2,10]

a)10*rand+2

b)8*rand+2

¢) rand(2,10)

d)2%rand(2,10)

Answer Table Section 1

Question | 1| 2| 3

41 5|67

Answer

Question | 11| 12 13

14 | 15| 16 | 17

18

19 20

Answer

Section 2: (20 marks)

1. What is the value of k after the Matlab code below executes?

k=1,
SJori=1:2:10
k=k+i;
end
disp(k)
a) 26 b)10 c)2 d)s
2. The output of the following code is:
x=10;
y=35
ifx>10
y =y+5;
end
disp(1);
a) 0 'b) 6 [o) 5 [ d) 10
3. What is the value of b where x=[1 2 5 4]; b=find(x>2) b=......
4.
a) [12] b) 3 4] o) [54] d) [0011]
5. To find the root of the equation, we will use matlab command ..........
a)root b) dsolve ¢) Rsolve d)Solve




X=X+2;

NUM=NUM-+1; end

a) 3 times

b) 4 times

¢) Stimes

.

d) 6 times

13. Convert electronic data produced by the computer system and display them in a form
that people can understand. :

a) Input devices b) Output devices |c) Monitor d) Printer
SR is used for short-term storage of data or program instructions
a) Hard disk b) ROM ¢) RAM d) CPU o L
15, «ooses is used as Programs, Commands and user responses .
a) Data b) Commands c) Software d) Instructions
Answer Table
Question | 3 4 5 6 7 8 9 10 | 11 12 | 13 | 14 | 15}
Answer v ‘
Question 2:
Write the output of the following blocks of code: (10 Marks)
No Code Output
Lin=23;
while (n >=0)
disp (n * n)
p=n-1;
__|end .
2x=2y=3;

% disp (x+y)

disp (~m)

disp (~ (j - m))

3i=lj=2;k=3;m=2;
disp(k+m<jl|j3-j>=k)

disp (m <= 99 && k <m)

4li=1;
while (i < 10)
i=itl;

disp (i)
end
end

if (mod (i , 3) == 0)

2|
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Answer the following questions: (50 Marks)
Question 1:
. Choose the correct answer and write it in the answer table: (15 Marks)

1. Letx=[25 1 6]. How can we compute the [2* 57 1> 6°]?

a) x*x | b) x./2 | c) x"2 | d) x**x m
2. Given the matrix A =[1 5 7;2 6 4; 3 8 2], which value is referenced by A(2,1)?
2) 8 [b) 2 lo) 6 1d) 5 |
3. Which Matlab command is used to execute a set of commands under condition.
| ) while [ b) for | o)if [ d) disp }
4. What is the correct way to write the condition y < x <z?
a) (y<x) || (x<z) |b) (y<x) && (x<z) [¢) (y<x)or(x<z) d) (y<X) and(x<z)
5. When we use the repetition, the algorithm is considered as .............
a) sequence b) loop ¢)branching d)other
6. We can classify the algorithm in three different type..........cccooceeee.
a) sequence, b) branching, ¢) sequence, d) selection,
selection, branching | calculation and loop branching and loop | calculation and loop
7. Transmits signal specifying whether to read or write data to or from primary éioragémw “
address, input device or output device.
ra) Address bus | b) Data bus | ¢) Control bus | d) cards j
8. Directs and coordinates operations in computer
[a) Controlunit | b) CPU [c) RAM | d) ROM ]
9. The devices provide connections between the computer and communications networks.
a) CPU b) Internet ¢) Communication | d) control unit
devices
10. What is the value of x after the following code? x=10; %x = 2*x+1;

a) 21

b) 10

¢) No value

d) Error formula

il

1f we have information with size 32 bits, what is equivalent size in

nibble?

a) 4

b) 32

c) 8

d) No relation

12. How many times is the while loop executed?
X =0; NUM =2; SUM = 3;

while (X <= 5)

SUM = SUM + X
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Section 3: (10 marks)

1. Find the error in the following codes
a) Function (a,b)=res(x,y)
for k=100:2:10
a=x(i)+y(1);
b =x(i)*y(i);

b) D='Ahmed'
Sfori=1:10
disp(D(i))

2. Write an algorithm and draw the flowchart that reads two values, determines
the smallest value and prints the smallest value with an identifying message.

The algorithm

The flowchart

Best Wishes
rﬁT. t;%faaaf‘ahdim



6. Find the output
k=1
Fori=1:4
a(k) =1"2
k=k+1;
end
disp(a)

2)16 b)[149 16] o[ 1235] a1 16]

7. exp(x)thatmean ............................

a)except x b)e* cleye x d)others

8. Convert the following to their binary equivalents: 154.0573

a) 1101100.0101111 | b) 101011.101011 | ¢) 101001.101111 | d)1001101100.11111

9. The product of 10101*101 equals

a) 1101001 b) 1011111 c) 1101111 | d)y 111111
1 2 3
10. What the value of b,if A=|5 3 0|and b=min(A,[],2)
-1 9 1
a)[120] b)[10-1] c)[-120] d) others

11. The number 75735 equivalents to hexa-decimal number

a) F7/B b) E7B ) FF7 d) BSF

Answer Table Section 2
Question 1 12 |3 |4 |5 |6 |7 |[8]9 |10

Answer




21. Command

Is used to random number between [2,10]

a)10*rand+2

b)8*rand+2

¢) rand(2,10)

d)2%rand(2,10)

Answer Table Section 1

Question | 1| 2| 3

41 5|67

Answer

Question | 11| 12 13

14 | 15| 16 | 17

18

19 20

Answer

Section 2: (20 marks)

1. What is the value of k after the Matlab code below executes?

k=1,
SJori=1:2:10
k=k+i;
end
disp(k)
a) 26 b)10 c)2 d)s
2. The output of the following code is:
x=10;
y=35
ifx>10
y =y+5;
end
disp(1);
a) 0 'b) 6 [o) 5 [ d) 10
3. What is the value of b where x=[1 2 5 4]; b=find(x>2) b=......
4.
a) [12] b) 3 4] o) [54] d) [0011]
5. To find the root of the equation, we will use matlab command ..........
a)root b) dsolve ¢) Rsolve d)Solve
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X=X+2;

NUM=NUM-+1; end

a) 3 times

b) 4 times

¢) Stimes

.

d) 6 times

13. Convert electronic data produced by the computer system and display them in a form
that people can understand. :

a) Input devices b) Output devices |c) Monitor d) Printer
SR is used for short-term storage of data or program instructions
a) Hard disk b) ROM ¢) RAM d) CPU o L
15, «ooses is used as Programs, Commands and user responses .
a) Data b) Commands c) Software d) Instructions
Answer Table
Question | 3 4 5 6 7 8 9 10 | 11 12 | 13 | 14 | 15}
Answer v ‘
Question 2:
Write the output of the following blocks of code: (10 Marks)
No Code Output
Lin=23;
while (n >=0)
disp (n * n)
p=n-1;
__|end .
2x=2y=3;

% disp (x+y)

disp (~m)

disp (~ (j - m))

3i=lj=2;k=3;m=2;
disp(k+m<jl|j3-j>=k)

disp (m <= 99 && k <m)

4li=1;
while (i < 10)
i=itl;

disp (i)
end
end

if (mod (i , 3) == 0)

2|




2 Assiut University Final Exam Date :20/5/2018 Y
3 u..!z[ : Faculty of Science introduction to computer Level: first o
o T Mathematics Dept. Code: (100MC) Time: 2 Hour —
Answer the following questions: (50 Marks)
Question 1:
. Choose the correct answer and write it in the answer table: (15 Marks)

1. Letx=[25 1 6]. How can we compute the [2* 57 1> 6°]?

a) x*x | b) x./2 | c) x"2 | d) x**x m
2. Given the matrix A =[1 5 7;2 6 4; 3 8 2], which value is referenced by A(2,1)?
2) 8 [b) 2 lo) 6 1d) 5 |
3. Which Matlab command is used to execute a set of commands under condition.
| ) while [ b) for | o)if [ d) disp }
4. What is the correct way to write the condition y < x <z?
a) (y<x) || (x<z) |b) (y<x) && (x<z) [¢) (y<x)or(x<z) d) (y<X) and(x<z)
5. When we use the repetition, the algorithm is considered as .............
a) sequence b) loop ¢)branching d)other
6. We can classify the algorithm in three different type..........cccooceeee.
a) sequence, b) branching, ¢) sequence, d) selection,
selection, branching | calculation and loop branching and loop | calculation and loop
7. Transmits signal specifying whether to read or write data to or from primary éioragémw “
address, input device or output device.
ra) Address bus | b) Data bus | ¢) Control bus | d) cards j
8. Directs and coordinates operations in computer
[a) Controlunit | b) CPU [c) RAM | d) ROM ]
9. The devices provide connections between the computer and communications networks.
a) CPU b) Internet ¢) Communication | d) control unit
devices
10. What is the value of x after the following code? x=10; %x = 2*x+1;

a) 21

b) 10

¢) No value

d) Error formula

il

1f we have information with size 32 bits, what is equivalent size in

nibble?

a) 4

b) 32

c) 8

d) No relation

12. How many times is the while loop executed?
X =0; NUM =2; SUM = 3;

while (X <= 5)

SUM = SUM + X
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Section 3: (10 marks)

1. Find the error in the following codes
a) Function (a,b)=res(x,y)
for k=100:2:10
a=x(i)+y(1);
b =x(i)*y(i);

b) D='Ahmed'
Sfori=1:10
disp(D(i))

2. Write an algorithm and draw the flowchart that reads two values, determines
the smallest value and prints the smallest value with an identifying message.

The algorithm

The flowchart

Best Wishes
rﬁT. t;%faaaf‘ahdim



6. Find the output
k=1
Fori=1:4
a(k) =1"2
k=k+1;
end
disp(a)

2)16 b)[149 16] o[ 1235] a1 16]

7. exp(x)thatmean ............................

a)except x b)e* cleye x d)others

8. Convert the following to their binary equivalents: 154.0573

a) 1101100.0101111 | b) 101011.101011 | ¢) 101001.101111 | d)1001101100.11111

9. The product of 10101*101 equals

a) 1101001 b) 1011111 c) 1101111 | d)y 111111
1 2 3
10. What the value of b,if A=|5 3 0|and b=min(A,[],2)
-1 9 1
a)[120] b)[10-1] c)[-120] d) others

11. The number 75735 equivalents to hexa-decimal number

a) F7/B b) E7B ) FF7 d) BSF

Answer Table Section 2
Question 1 12 |3 |4 |5 |6 |7 |[8]9 |10

Answer




21. Command

Is used to random number between [2,10]

a)10*rand+2

b)8*rand+2

¢) rand(2,10)

d)2%rand(2,10)

Answer Table Section 1

Question | 1| 2| 3

41 5|67

Answer

Question | 11| 12 13

14 | 15| 16 | 17

18

19 20

Answer

Section 2: (20 marks)

1. What is the value of k after the Matlab code below executes?

k=1,
SJori=1:2:10
k=k+i;
end
disp(k)
a) 26 b)10 c)2 d)s
2. The output of the following code is:
x=10;
y=35
ifx>10
y =y+5;
end
disp(1);
a) 0 'b) 6 [o) 5 [ d) 10
3. What is the value of b where x=[1 2 5 4]; b=find(x>2) b=......
4.
a) [12] b) 3 4] o) [54] d) [0011]
5. To find the root of the equation, we will use matlab command ..........
a)root b) dsolve ¢) Rsolve d)Solve
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X=X+2;

NUM=NUM-+1; end

a) 3 times

b) 4 times

¢) Stimes

.

d) 6 times

13. Convert electronic data produced by the computer system and display them in a form
that people can understand. :

a) Input devices b) Output devices |c) Monitor d) Printer
SR is used for short-term storage of data or program instructions
a) Hard disk b) ROM ¢) RAM d) CPU o L
15, «ooses is used as Programs, Commands and user responses .
a) Data b) Commands c) Software d) Instructions
Answer Table
Question | 3 4 5 6 7 8 9 10 | 11 12 | 13 | 14 | 15}
Answer v ‘
Question 2:
Write the output of the following blocks of code: (10 Marks)
No Code Output
Lin=23;
while (n >=0)
disp (n * n)
p=n-1;
__|end .
2x=2y=3;

% disp (x+y)

disp (~m)

disp (~ (j - m))

3i=lj=2;k=3;m=2;
disp(k+m<jl|j3-j>=k)

disp (m <= 99 && k <m)

4li=1;
while (i < 10)
i=itl;

disp (i)
end
end

if (mod (i , 3) == 0)

2|




2 Assiut University Final Exam Date :20/5/2018 Y
3 u..!z[ : Faculty of Science introduction to computer Level: first o
o T Mathematics Dept. Code: (100MC) Time: 2 Hour —
Answer the following questions: (50 Marks)
Question 1:
. Choose the correct answer and write it in the answer table: (15 Marks)

1. Letx=[25 1 6]. How can we compute the [2* 57 1> 6°]?

a) x*x | b) x./2 | c) x"2 | d) x**x m
2. Given the matrix A =[1 5 7;2 6 4; 3 8 2], which value is referenced by A(2,1)?
2) 8 [b) 2 lo) 6 1d) 5 |
3. Which Matlab command is used to execute a set of commands under condition.
| ) while [ b) for | o)if [ d) disp }
4. What is the correct way to write the condition y < x <z?
a) (y<x) || (x<z) |b) (y<x) && (x<z) [¢) (y<x)or(x<z) d) (y<X) and(x<z)
5. When we use the repetition, the algorithm is considered as .............
a) sequence b) loop ¢)branching d)other
6. We can classify the algorithm in three different type..........cccooceeee.
a) sequence, b) branching, ¢) sequence, d) selection,
selection, branching | calculation and loop branching and loop | calculation and loop
7. Transmits signal specifying whether to read or write data to or from primary éioragémw “
address, input device or output device.
ra) Address bus | b) Data bus | ¢) Control bus | d) cards j
8. Directs and coordinates operations in computer
[a) Controlunit | b) CPU [c) RAM | d) ROM ]
9. The devices provide connections between the computer and communications networks.
a) CPU b) Internet ¢) Communication | d) control unit
devices
10. What is the value of x after the following code? x=10; %x = 2*x+1;

a) 21

b) 10

¢) No value

d) Error formula

il

1f we have information with size 32 bits, what is equivalent size in

nibble?

a) 4

b) 32

c) 8

d) No relation

12. How many times is the while loop executed?
X =0; NUM =2; SUM = 3;

while (X <= 5)

SUM = SUM + X

1]
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Section 3: (10 marks)

1. Find the error in the following codes
a) Function (a,b)=res(x,y)
for k=100:2:10
a=x(i)+y(1);
b =x(i)*y(i);

b) D='Ahmed'
Sfori=1:10
disp(D(i))

2. Write an algorithm and draw the flowchart that reads two values, determines
the smallest value and prints the smallest value with an identifying message.

The algorithm

The flowchart

Best Wishes
rﬁT. t;%faaaf‘ahdim



6. Find the output
k=1
Fori=1:4
a(k) =1"2
k=k+1;
end
disp(a)

2)16 b)[149 16] o[ 1235] a1 16]

7. exp(x)thatmean ............................

a)except x b)e* cleye x d)others

8. Convert the following to their binary equivalents: 154.0573

a) 1101100.0101111 | b) 101011.101011 | ¢) 101001.101111 | d)1001101100.11111

9. The product of 10101*101 equals

a) 1101001 b) 1011111 c) 1101111 | d)y 111111
1 2 3
10. What the value of b,if A=|5 3 0|and b=min(A,[],2)
-1 9 1
a)[120] b)[10-1] c)[-120] d) others

11. The number 75735 equivalents to hexa-decimal number

a) F7/B b) E7B ) FF7 d) BSF

Answer Table Section 2
Question 1 12 |3 |4 |5 |6 |7 |[8]9 |10

Answer




21. Command

Is used to random number between [2,10]

a)10*rand+2

b)8*rand+2

¢) rand(2,10)

d)2%rand(2,10)

Answer Table Section 1

Question | 1| 2| 3

41 5|67

Answer

Question | 11| 12 13

14 | 15| 16 | 17

18

19 20

Answer

Section 2: (20 marks)

1. What is the value of k after the Matlab code below executes?

k=1,
SJori=1:2:10
k=k+i;
end
disp(k)
a) 26 b)10 c)2 d)s
2. The output of the following code is:
x=10;
y=35
ifx>10
y =y+5;
end
disp(1);
a) 0 'b) 6 [o) 5 [ d) 10
3. What is the value of b where x=[1 2 5 4]; b=find(x>2) b=......
4.
a) [12] b) 3 4] o) [54] d) [0011]
5. To find the root of the equation, we will use matlab command ..........
a)root b) dsolve ¢) Rsolve d)Solve
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